P6: Viral Marketing

This puzzle contains 9 sticky notes that each contain a small crossword grid. In each grid, every pair of
crossing words needs to be synonyms. Furthermore, the numbers indicate how much to shift a letter by to get
the letter that the line points to. Note that lines wrap across the edges. There are thus, 2 things to do:

1.) Fillin as many of the letters as possible to create crossing synonyms.

2.) Find the correct arrangement of the 9 sticky notes such that the letters correctly shift. This may also
help fill in more of the missing letters.

The correct answer should look something like the following (Note that there are multiple solutions since the
edges wrap, so you can just move a row or column to the other end):
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The answer is given in the middle square in this image: CITRUS FEVER.




